
 
Haut. Tot. : 320cm, base : 180x170cm 

 une grande vitrine   

 

      

Cloche 1: H 40cm, 80x120cm                        Cloche 2: H 40cm, 80x160cm       Cloche 3: H 40cm, 80x65cm 

                                         ces 3 cloches sont données sans ouvrant et sans leur base  



 

    Cloche 4: H 40cm, 80x150cm                    Cloche 5: H 40cm, 80x150cm                      Cloche 6: H 40cm, 80x120cm                                                                         

 ces 3 cloches sont données sans ouvrant et sans leur base 

      

Haut. : 230cm, base : 90x110cm.                                                                                     Haut. : 230cm, base : 90x110cm 

                                                                              2 Vitrines avec ouvrant                            


